Annexure-E2

	PAR	RT - I
Ι	Name of the Candidate	Sh./Smt./Km. Adv: KC NASEER
Π	Number and name of Constituency	07 Ponnani
III	Name of State/Union Territory	Kerala
IV	Nature of Election (Please mention whether General Election to State Assembly / Lok Sabha / Bye- election)	Lok Sabha
V	Date of declaration of result	23-05-2019
VI	Name and Address of the Election Agent	Musthafa-m, Mullappalli () Ponnala
VII	If candidate is set up by a political party, Please mention the name of the political party	SDPL (Social Democratic Party of India)
VIII	Whether the party is a recognised political party	Yes/No Yes.

Date: Malappuran

Signature of the Candidate

Place: 22-06-2019

Name: Adv: EC Naseer

PART-II: ABSTRACT OF STATEMENT OF ELECTION EXPENDITURE OF CANDIDATE

S. No.	Particulars	Amt. Incurred / Auth. by Candidate/ Election agent(in Rs.)	Amt. Incurred/ authorized by Pol. Party (in Rs.)	Amt. Incurred / authorized by others (in Rs.)	Total Election expenditure (3)+(4)+(5)
1	2	3	4	5	6
I	Expenses in public meeting, rally, procession etc.:- 1. a : Expenses in public meeting, rally, procession etc. (ie: other than the ones with Star Campaigners of the Political party (Enclose as per Schedule-1)	40,050	975)	59250	99300
	I. b : Expenditure in public meeting rally, procession etc. with the Star Campaigner(s) (ie: other than those for general party propaganda) (Enclose as per Schedule-2)	-			
11	Campaign materials other than those used in the public meeting, rally, procession etc. mentioned in S.No. I above(Enclose as per Schedule-3)	167041		117730	284771

lepton

III	Campaign, through print and electronic media including cable network, bulk SMS or internet and Social media (Enclose as per Schedule-4)	-	-			
IV	Expenditure on campaign vehicle(s), used by candidate(Enclose as per schedule-5)	321261		474435	795696	
V	Expenses of campaign workers / agents (Enclose as per Schedule -6)	40000		148709	188709	
VI	Any other campaign expenditure	38878	-	·—	38878	
VII	Expenses incurred on publishing of declaration regarding criminal cases (Enclose as per Schedule-10)*	26770		-	26770	
	Grand Total	634000		800124	1434124	
S No	PART III : ABSTRACT OF SOUR	RCE OF FUN	DS RAISED	BY CANDID	ATE Amount (in Rs.)	
1	2				3	
I	Amount of own fund used for the election campaign (Enclose as per Schedule - 7)				v	
П	Lump sum amount received from the party (ies) in ca (Enclose as per Schedule -8)	ash or cheque e	elc,			

Lump sum amount received from any person/ company/ firm/ associations / body of persons

III

etc. as loan, gift or donation etc. (Enclose as per Schedule -9)

Total

e Marching

634000

634000

Schedules-1 to 9:	Details of Elections Funds and Expenditure of Candidate

6.4.1.20

•

_	ule- 1	an abarra mith Char	Commission of the	D-1141-1	
	ses in public meeting, rally, procession etc. (ie: other the Nature of Expenditure	Total Amount	Source of Expendit		y)
3. 140		in Rs.	Amt. incurred / Auth. by Candidate / agent	Amt. incurred / by Pol. Party with name	Amt. incurred by others
1	2	3	4	5	6
1	Vehicles for transporting visitors	50000	20500	-	29500
2	Erecting Stage, Pandal & Furniture, Fixtures, poles etc.	17000		-	17000
3	Arches & Barricades etc.	-	_	_	-
4	Flowers/ garlands	-	-	_	_
5	Hiring Loud speakers, Microphone, amplifiers, comparers etc.	25250	12500		12750
6	Posters, hand bills, pamphlets, Banners, Cut-outs, hoardings	5500	5500		_
7	Beverages like tea, Water, cold drink, juice etc.	-	-	-	-
8	Digital TV –boards display, Projector display, tickers boards, 3D display				
9	Expenses on celebrities, payment to musicians, other artists remuneration etc.				-
10	Illumination items like serial lights, boards etc.				-
11	Expenses on transport, Helicopter/aircraft/vehicles/ boats etc. charges (for self, celebrity or any other campaigner other than Star Campaigner)			_	-
12	Power consumption/ generator charges			-	-
13	Rent for venue		-		-
14	Guards & security charges	-			-
15	Boarding & lodging expenses of self, celebrity, party functionary or any other campaigner including Star Campaigner	-	_	_	-
16	Others expenses	1550	1550	-	-
	Total	99300	40050		59250

laboration

Schedule- 2 Expenditure in public meeting rally, procession etc. with the Star Campaigner(s) as apportioned to candidate (ie: other than those for general party propaganda)

S. No	Date and Venue	Name of the Star Campaigner(s) & Name of Party	procession etc.	lic meeting rally, r Campaigner(s) As other than for		
1	2	3	So	5		
	6		Amount by Candidate/Age nt	Amount by Political Party	Amount by Others	
1						
2						
3						
4						
Total						

Schedule-3

Details of expenditure on campaign materials, like handbills, pamphlets, posters, hoardings, banners, cut-outs, gates & arches, video and audio cassettes, CDs/ DVDs, Loud speakers, amplifiers, digital TV/ board display, 3 D display etc. for candidate's election campaign (ie: other than those covered in Schedule-1 & 2)

S. No.	Nature of Expenses	Total Amount in Rs.	Sources of Expe	enditure		Remarks, if any	
			Amt. By candidate / agent	Amt. By Pol. Party	Amt. By others		
1	2	3	4	5	6	7	
1	Clothing Banner	143812	102412		41400		
2	Flag, Thoranam		15500		910		
3	Cap, Badge, Tshirts	26000	4000		22000		
4	Hand Bill	3400	2000	_	1400		
T	Poster	20749	17629	-	3120		
6	Graffitti	38400	12500	-	25900	1	
7	Campaign office	8000	5000	-	3000		
8	Undio Songe	26000	6000		20000		
9	Hiring Furniture en	2000	2000	-	-		
	0	284771	167041	-	117730		

Centeration

Schedule- 4

Details of expenditure on campaign through print and electronic media including cable network, bulk SMS or Internet or social media, news items/TV/radio channel etc., including the paid news so decided by MCMC or voluntarily admitted by the candidate. The details should include the expenditure incurred on all such news items appearing in privately owned newspapers/TV/radio channels etc.

S.	Nature of	Name and address of	Name and address of agency,	Total Amount	Sources of Ex	penditure	
No	medium (electronic / print) and duration	media provider (print /electronic /SMS / voice/ cable TV, social media etc.)	reporter, stringer, company or any person to whom charges / commission etc. paid/ payable, if any	in Rs. Col. (3) +(4)	Amt. By candidate/ agent	Amt. By Pol. Party	Amt. By others
1	2	3	4	5	6	7	8
1							
2							
3							
4							
Tota	1			$\mathbf{\lambda}$			

Schedule-4A

Details of expenditure on campaign through print and electronic media including cable network, bulk SMS or Internet or social media, news items/TV/radio channel etc., including the paid news so decided by MCMC or voluntarily admitted by the candidate. The details should include the expenditure incurred on all such news items appearing in newspapers/TV/radio channels, owned by the candidate or by the political party sponsoring the candidate.

S. No	Nature of medium	Name and address of media provider (print/	Name and address of agency, reporter, stringer,	Total Amount in Rs.	Sources of Expenditure				
	(electronic / print) and duration	/electronic /SMS / coice/ cable TV, social media etc.)	company or any person to whom charges / commission etc. paid/ payable, if any	Col. (3) +(4)	Amt. By candidate/ agent	Amt. By Pol. Party	Amt. By others		
1	2	3	4	5	6	7	8		
1									
2									
3		-							
4									
Total				\bigwedge					

eplandin

					oll expendi	No.								
S. No	Regn. No. Vehicle &	of Hiring Charg	f Hiring Charges of vehicle					Total an incurred		Source	of Expe	nditure		
	Type of Vehicle	Rate for Hiring of vehicle / maintenanc e		covered	Driver's		ch used	in Rs.		Amt. By candida agent		Amt. E Party	By Pol.	Amt. By other s
1	2	3a	3b		3c	4		5		6		7		8
1						+								
2														
3	1													
otal	1													
								795	696	321	261	-		474
Sche	dule- 6													
Detai oter	ls of expend 's slips	iture on Campaign	worker	s / agents	and on car	didates	' booth	s (kiosks)) outsid	e polling	stations	s for dist	ribution	n of
	Date and	Expenses on Can	npaign	workers			Total amt.		Sourc	es of Exp	oenditur	e		
ło	Venue	Nature of Expense	ses	Rate	No. of wo agents No kiosks		incurre In Rs.	ed/ auth.	Amt. candi- agent	t. By Amt. didate/ Party		Amt. By Pol. Party		By s
	2	3a		3b	3c		4		5		6		7	
		Candidates' boot (kiosks) set up fo distribution of vo slips	r					_		-		•		_
!		Campaign worke honorarium/ sala					10,0	0,000 10		000		_	-	
		Boarding)	~	-					
		Lodging						-	-	-				
		Du Delan	1 1				100	200	2	0000			11.0	709
		Others Refrey	wey				170	709		0000	-		IUX	701

Chlarghur.

e e Ne e

4

8

-												
	dule- 7	6 1 1	C l.	1								
Deta	ils of Amount of own	I fund used	for the o	election	i campaig	п						
S. No	o. Date	Cash			DD/ Cheque no. etc. with details of drawee bank				Total Ar	nount in Rs.	Rema	rks
1	2	3	1		4				5		6	
1		_		\backslash								
2		-										
3					\setminus							
4					$\overline{)}$							
Tota												
Sche	dule- 8					/						
Deta	ils of Lump sum amo	unt receive	ed from t	he nart	v (ies) in	cash or	cheque or	DD or by	Account	Transfer		
Deta	ns of Europ sum and				y nes) m	cush or	eneque or	DD of by	Account	Transier		
S. No.	Name of the Political Party D				Cash		DD/ Cheque no. etc details of drawee ba			Total Amou Rs.	unt in	Remarks, if any
1	2		3		4 5		5			6		7
1												
2												
3						-/						
4	(T - 1				-							
	Total							/				
Sche	dule-9 Atta	icher	1 5	repe	nle	she	ut					
Detai	ils of Lump sum amo							ons/body	of person	s etc. as loan	, gift o	r donation etc.
S. No.	Name and address	Date	(Cash		etc. wi	heque no. th details wee bank	Mention loan, gif donation		Total Amou Rs.	unt in	Remarks
1	2	3	4	4		5		6		7		8
1												
2												
3												
4												
	Total									6340	00	

· .

Deta	ils of expenditure	incurred on	publishing crimin	al antecede	nts, if any in newspa	aper and TV Cl	nannel
SI. No.	Newspaper			Televisio	n	Mode of payment (electronic/cheque/DD, Cash) (Pl. specify)	
	Name of Newspaper	Date of publishing	Expenses that may have been incurred (in Rs.)	Name of channel	Date & Time of insertion/telecast	Expenses that may have been incurred (in Rs.)	
1	2	3	4	5	6	7	8
	MANGALAM	19-4-19)		MANG M.	AM 15-4/20:00	2	25000 chay
12	1. FING DUNN			MANGARAM 16-4/20:00 1770 MANGARAM 17-4/20:00			

Note :

1. In Schedule 5:-

(a) copy of the order containing list of all vehicles for which permit issued by the Returning Officer to be enclosed.(b) If the vehicle is owned by the candidate/his relative/agent are used for election purpose, notional cost of hire of all such vehicles, except one vehicle if owned and used by the candidate, notional cost of fuel and drivers salary for such vehicle, shall be included in total amount of expenditure in the above table.

2. In all schedules if any expenditure on goods and services, provided by the Political Party; or provided by any person/ company/ firm /associations/ body of persons etc. on behalf of the candidate, then the notional market value of such goods or services are to be indicated, in respective columns.

3. In Part –III, the Lump-sum amount of fund received from the political party or others or the candidate's own funds, should be mentioned date wise. In all such cases such amounts are required to be first deposited in the bank account of the candidate, opened for election expenses.

4. Each page of the Abstract Statement should be signed by the candidate

* In pursuance of Hon'ble Supreme Court Judgment dated 25.09.2018 in WP(C) No. 536 of 2011.

Chlaughn?

	dule 5								
Déta	ils of Expentitue on Ca	mpaign Veh	icles and P	oll expend	liture on ve	hicles for car	didate,s elec	ction campai	gn
		Hiring Ch veh			No. of		source of Expenditure		
	Regn No of Vehicles &	Rate for Hring of	Fuel Cahgers (if	Driver,s	days for which		Amt. By candodate/	Amt. By Pol.	Amt. By
I No		Vehicle/	not Hiring)		used	th. In rs	agent	Party	Other
1	KL 10 K 2790 JEEP	6000			4	24000	24000		
2	KL 55 Z 7062 MLORY	6000			3	18000			1800
3	KL 55 D 5023 CRUSIR	6000			2	12000	12000		
4	KL 55 C 699 CRUISR	7500			5	37500			3750
5	KL 4 T 1937 CRUISR	6000			5	30000	17500		1250
6	KL 56 B 2149 CRUISR	6000			8	48000	24000		2400
7	KL 55 J 1222 JEEP	7000			4	28000			2800
8	KL 10 Y 9017 CRUISR	6000			4	24000	24000		
9	KL 54 K 5334 JEEP	3000			5	15000	10496		450
10	KL 54 H 4474 CRUISR	7500			8	60000	35000		2500
11	KL 10 F 7391 JEEP	6000			4	24000			2400
12	KL 10 X 1513 CRUISR	6000			3	18000			1800
13	KL 55 Y 6891 VAN	6500			4	26000	12500		1350
14	KL 10 AF 8039 CRUISR	6000			4	24000			2400
15	KL 9 T 4798 CRUISR	7000			8	56000	30000		2600
16	KL 18 2781 CRUISR	6500			4	26000	12265		1373
17	KL 10 H 2433 CRUISR	6500			5	32500	32500		
18	KL 56 X 2597	6000			4	24000			2400
19	KL 55 Z 8043	3000			8	24000	24000		
20	KL 55 C 1545	6000			5	30000	11500		1850
21	KL 18 F 6557	7500			4	30000	15500		1450
22	KL 55 Z 5071	6000			2	12000	12000		
23	KP 51 A 6668	6500			3	19500			1950
24	KL 55 T 116	6000			6	36000			3600
25	KL 55 Z 8536	6000			4	24000			2400
26	KL 55 K 334	6000			4	24000	24000		1
27	KL 51 A 6668	6000			4	24000			2400
28	15 NOS BIKE		12000			12000			1200
29	10 NOS CAR		33196			33196			3319
			45,196.00			795 696 00	321,261.00		474,435.0

ghaghin.

Schedule-9 Details of Lump sum amount received from any person/company/firm/associations/body of persons etc. as										
	s of Lump sum amount i ft or donation etc.	received from an	y person/com	pany/tirm/ass	ociations/body	y or persons et	c. as			
	Name and Address	Date	Cash	DD/Cheque No. etc with details of drawee bank	Mention whether laon, gift or donation etc	Total Amount in Rs	Remrks			
	Anes AP	3/28/2019			Donation	74,000.00				
	Abdu Raheem K	4/2/2019				45,000.00				
	Anes AP	4/4/2019				30,000.00				
	Sufiyan KP	4/4/2019	30,000.00			30,000.00				
	Mohammed Ali P	4/10/2019				25,000.00				
	Ashraf P	4/12/2019				232,000.00	·			
	Salam KK	4/12/2019				38,000.00				
_	Raheem K	4/20/2019				100,000.00				
	Jafar K	4/25/2019				60,000.00				
			634,000.00			634,000.00				

Charthe.



കേർളo केरल KERALA

CE 118529

AFFIDAVIT

Before the District Election Officer Malappuram

Affidavit of Shri.Adv.K.C.NASEER S/o Ahammedkutty, aged 40 years, r/o Karinkappara Choorakkuzhiyil House, Chungam, Punnathala P.O, Tirur Taluk, Malappuram District, Kerala State do hereby solemnly and sincerely state and declare as under:-

(1) That I was a contesting candidate at the general election to the House
of the People from PONANI Parlimentary constituency, the result of which was
declared on 23rd May 2019.

Contd.....2 Adv. K. C. Naseer il 6.807 ... Nie 100062 more march and a more WAZER callo Delle 53 JUH 201 (neals ene k.c.mmld. No:5230 ாதனி...... 8... ... (In..... -6-1 തിരൂർ സബ് കോർട്ട ണ്ട്രൻ, പി. ത്നികണ്ണ No: A1.1425/



കേര്ളo केरल KERALA

CE 118530

(2) That my election agent kept a separate and correct account of all expenditure incurred/authorised by me/my election agent in connection with the above election between 2|4||9 the date on which I was nominated) and the date of declaration of the result thereof, both days inclusive.

-2-

(3) That the said account was maintained in the Register furnished by the Returning Officer for the purpose and the said Register itself is annexed hereto with the supporting vouchers/bills mentioned in the said account.

Contd.....3 Adv. K.C. Naseer Char 6808 Mie LODOF RAZER n District 6R130 0.2.1.8.2. K.C.M.M.A riwm 1.8. ളിരൂർ സബ് കോർട്ട വേണ്ടർ, പി.മണികണ്സ് 6 No: A1.1425/97

(4) That the account of my election expenditure as annexed hereto includes all items of election expenditure incurred or authorised by me or by my election agent, the political party which sponsered me other association/body of persons and other individuals supporting me, in connection with the election, and nothing has been concealed or withheld/suppressed therefrom (other than the expense on travel of leaders covered by Explanations 1 and 2 under section 77(1) of the Representation of the People Act, 1951)

(5) That the Abstract Statement of Election Expenses annexed as Annexure II to the said account also includes all expenditure incurred or authorised by me, my election agent, the political party which sponsered me, other associations/body of persons and other individuals supporting me, in connection with the election.

(6) That the Statements in the foregoing paragraphs (1) to (5) are true to the best of my knowledge and belief that nothing is false and nothing material has been concealed.

Deponent Adv. K. C. Naseer

Solemnly affirmed by the deponent at Tirur this the 18th day of

June 2019 before me. MIRC INDIA ED ABD P. MOHAM NAZER ADVOCATE & NOTARY Room No 3 GREEN CITYLODGE 9847 166 136 No: 11 Reg. No:5230 Pitce No . ate 21-01-207 Book No.....